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To better prepare for the test, make good use of…

1. the Chapter Review on p.137 Questions # 1–15; 
2. the notes for all lessons; and 

3. this review package.

The following are the topics we have done in this chapter…

L1:
Graphing Exponential Functions & Applications
L2: 
Solving Exponential Equations Using Logarithms

L3:
Definition of Logarithms

L4: 
Law of Logarithms

L5:
Solving Logarithmic Equations

L6:
Solving Exponential Equations using Logarithms
L7:
Natural Logarithm & e
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Logarithms Review

1

Given logx =loga —2logh + ;lf log ¢, determine an expression for x.

a ai a act 2ac
— b) —— ) — d) — e) —
a) X ) =3 ) Ny 7 b
4
Which of the following is equal to logx if x = @ ?
loga+ %logh
a) loga+ }logh -logc b) 2(oga+logh) - loge ) Lla—;c—g—
loga+4logh
d) 4(oga +logh) —logc e) ~Togc
If a = bcloe D), then which of the following must be true?
a) a=b* b)a=cd o a=d° d)a=dc e a=ct
Solve logy,(2x — 1) - logy(x — 1) = logy 3 for x.
a) # b) 2 o d) 4 es5
What is the value of x if logy, 72 = 27
a) 3v2 b) 6v2 0 2v3 d) 2v6 e) 3v6
Solve: logy x+loggx =1
a) V4 b) 2v/2 o ¥z d) 2 e 1
Solve log(2x — 4) — log(x +2) = 1 for x.
a)l b) 2 c3 d) -3 e)d
3 5
Which of the following is a simplified value of M ?
logx6 ~ logx3
log8 log15 log 8x 8 15
a log3 b) log2 ¢ log 3x d 3 e 2
What is the value of x if log,(log,s(ogz X)) = =17
a) -96 b) 32 c) 64 d) 81 e) 6561
. Give the domain of the relation log,(y + 5) = logy % +2log, 3.
a) x> -3 b)x<3 x>0, x#1
d)x>-2, x40 e)x>-3,x#0, x#1
. Give the domain of the relation log,(y ~ 2) =log,(4 - x).
a)x>0, x#1 b)x>4 0<x<4
d0<x<4, x#1 e) —4<x<4
. What is the value of log,, a +log,, b?
a)l b) log y(a +b) ) logapa - loga b
loga a
D g o o5 )

. A product of a nuclear explosion has a half-life of 30000 years. What percent of this

product remains after 100 years?

a) 98.0 b) 98.4 c) 98.9 d) 99.5 e) 99.8

10.

11.

12.

13.
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a) log3 +log2 —logx b) log6 - log3x c) log8 -logx
d)log8 — 3logx e) log2 - logx)?

. What is the equation of the asymptote of y = 3*~5?

a)x=-5 byy=0 oy=5 d)x=0 e)x=5

. Evaluate: 10081009

a9 b) log3 03 d) log9 e) log27

. Simplify: log,(bc) —log, (g)

a) log, 2¢ b) alogc? 00 d)2log,c e) (log, ¢)?

. How long, in years, will it take 10kg of plutonium 239 (half life 24000 years) to decay to

2.5kg?
a) 2400 b) 6000 ©) 12000 d) 48000 e) 72000

. If logm =y, which expression is equivalent to log(100m?3)?

a) 2y? b) 4y % d)2+2y e) 2+)72

. Given logy T = M, solve for B and leave your answer in exponential form.

a) $TV/M b) T)1/M) R Y ad d) TM e) T/M

. Solve the inequality 2 — 2logx > 0.

ayx>10 b)x<10 ) 0<x<10 d)0<x<100 e) x < 1000

. Solve for x: logs, 27 = 2

a) V3 b) +/3 o3 d) 3 e) 343

&

. Given logp = x and logg =y, find the expression equal to log rk

b L
y

a) dx-y 0 3x-) d);"g &) X -

. Which of the following is equal to log§ 57

log5 log2

a) -log, 5 b) Tog2 ¢) log/5 d “log5 e) ~log/5
. Ifa=2log, Q and b =log, P, which expression is equal to %?
a 2a a-2b 2a-b (@/2b)
a) 35 b) 5 02 d)2 e) 2
. Solve for x: (logx)? = a?
a) +a b) a 0 ha d) 104 e) 107 or 10~2

. A stock that John bought at $85 a share is now worth $368.43 a share. If it has averaged

a 13% increase in value a year, then how many years has John owned the stock? Answer
correct to one decimal place,

a) 3.8 b) 4.3 ¢) 9.5 dy12.0 e) 13.1

14.

15.

16.

17.

18.

19,

20.

21.

22.

23.

24,

25.

26.
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43.

. There are 2 solutions for the equation log, 2 = log, x. What is the sum of these two values?

a)l b) 2 o 3 d)4 e 0

. Which one of the following expressions could be used to evaluate in the equation 7%*2 = 237

2log7 2log7 3log2 -log7 3log2+log7 ) 7log2

2) 3log2+log7 b 3log2 -log7 ° 2log7 d 2log7 3log2
. Solve for x: logz x +loggx = 6.5
a) 24.56 b) 99.32 ¢) 101.05 d) 112.34 e) 116.82

. Given that log; 3 =, log, 5 =, and log, 7 = z express log, 175 in terms of x, y, and z.

al+x—-z b)x+y -z c) 2% .2 +22 d)% e) xy-z

. What is the equation of the asymptote of f(x) = log}(x -1)?

ayx=1 b)x=0 o x=% dy=0 e)y=1

. Evaluate: logs 27V2

a) § b) 3v2 03 d)3+v2 9

. Express as a logarithm of a single expression 2logz A - %loga B.

2 2 2\ 1 2
2 loga(%) Blog 2 0lgAWE  d) logs(éB—) & lozs(%)

. Solves logo(x — 3) +1logo(x+1) =5

a) -7, =5 b) -7, 5 ¢)-5,7 47 e5

. Solve: logs x3 ~logz 3x =3

a) 8 b)9 03 d 3} e) 3t

. Solve for x to the nearest hundredth: 4% = 5%-1

. Solve: logsz(logy x) = 2

. Determine the value(s) of x that satisfy the equation (logg(3x))(3 loggx — 2) = 0.

. 300 grams of a radioactive substance decays to 200 grams after 800 years. To the nearest

year, what is the half-life of the substance?

. How many years will it take for $10000 to become $1 000000 when it is invested at 16% per

annum compounded annually? Answer to the nearest year.

Solve for x: (logz x)% +logzx—12=0

3-logx _ -2logx ,
1+logx logx-14'

a) State the restrictions on the value of x.
b) Solve for x.

For the equation

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43,




Provided Formulae:





General growth/decay:    � EMBED Equation.DSMT4  ���





Compound Interest:     � EMBED Equation.DSMT4  ���





Earthquakes/pH:       � EMBED Equation.DSMT4  ���





Change of base:       � EMBED Equation.DSMT4  ���
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